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(
1 1
1 0

)k

"
������ �# �

(−1 1
1 0

)k

"
������ $#.

%����	��� ��&������ �
��	' �������	' ��� fk+1fk−1 − f2
k = (−1)k�

$� (���
�����	  ������ 
������ A!

A =

(
A11 A12

A21 A22

)
, A11 � A22 ) 
������ ������� m � n.
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det

(
DA11 DA12

A21 A22

)
= |D||A|, D ) 
������ "
������ �#,

det

(
A11 A12

A21 + BA11 A22 +BA12

)
= |A|, B ) 
������ "
������ $#.
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det

( ∑n
i=1 x

2
i

∑n
i=1 xiyi∑n

i=1 xiyi
∑n

i=1 y
2
i

)
,

�������	 �������
� .�+�����!

(
n∑

i=1

x2
i )(

n∑
i=1

y2i )− (
n∑

i=1

xiyi)
2 =

1

2

n∑
i,j=1

(xiyj − xjyi)
2.

%����	��� �������
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�� � ����������� ����
�� ���������� ��
����
�!

(x2
1 + · · ·+ x2

n)(y
2
1 + · · ·+ y2n) � (x1y1 + · · ·+ xnyn)

2.

2� -������	 
������ .������ L' ���
���� ������& ���������� ����'
��� ��������+� ������+� +��3�!

"
������ �#' "
������ $#�

Lii = ����� �4 �� 
��0��� i,

Lij = −1, ���� ������
��� �� �� 
���� 
��0���& i � 
��0���& j,

Lij = 0, ���� �� ������
��� �� �� 
���� 
��0���& i � 
��0���& j.
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|A− λI| = 0�

A =

⎛
⎜⎜⎝

4 1 2 2
1 4 2 2
1 1 −3 1
−1 −1 1 −3

⎞
⎟⎟⎠ "
������ �#,

A =

⎛
⎜⎜⎝

4 −2 2 2
1 3 1 −1
1 1 3 −1
−6 6 −6 −4

⎞
⎟⎟⎠ "
������ $#.

9� �������	 � ��� ��0���� �����������& �����
� ����&��� ��+� ����
������ ���
����& Ax = b!

A =

⎛
⎜⎜⎝

10 −5 −6 0
−4 2 6 −3
−16 8 6 3
6 −3 0 −3

⎞
⎟⎟⎠ , b =

⎛
⎜⎜⎝

9
−6
−12
3

⎞
⎟⎟⎠ "
������ �#,

A =

⎛
⎜⎜⎝
1 −2 −7 10
2 −4 −14 20
1 −2 −7 10
7 6 11 −20

⎞
⎟⎟⎠ , b =

⎛
⎜⎜⎝

6
12
6

−18

⎞
⎟⎟⎠ "
������ $#.
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� ����&��� ��+� ��������� ���
����& Ax = b' �����
��
 ��0����
 ������& �
������ 
����� w' � 
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�
��0���& �����
� Ax = 0 
����� 
������ v1' v2!

w =

⎛
⎜⎜⎝
−1
3
1
2

⎞
⎟⎟⎠ , v1 =

⎛
⎜⎜⎝
1
0
3
2

⎞
⎟⎟⎠ , v2 =

⎛
⎜⎜⎝
0
3
2
2

⎞
⎟⎟⎠ "
������ �#,

w =

⎛
⎜⎜⎝

1
−1
1
2

⎞
⎟⎟⎠ , v1 =

⎛
⎜⎜⎝
1
2
0
0

⎞
⎟⎟⎠ , v2 =

⎛
⎜⎜⎝
3
0
5
6

⎞
⎟⎟⎠ "
������ $#.
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